


53

54

55




56

57

58

30,000

239,100




59




60

61




62

63

19

22

23

16

23




64

18

65

18




66

18

67

19




68

19

69

19




70

71

10




72

20
O
43 31
31
31 10
500,000
300,000
73 21
(@}
100 -~ 20 100

11




74 21
o
o
o
75
o
76
o
77
o

12




78 24

308,904

10,998
84,322
213,584

77,531,572

227,324
1,200

77,222,668

5,184
88,723
2,197
37,800
175,000

23

« 22 )

(81,685,868,865 )

(79,350,092,316 )

(2,335,776,549 )

(1,564,964,407 )

(770,812,142 )

23

« 2 )

(5.826,145,496 )

(125,131,003 )

(5,701,014,493 )

23

« 2 )

(25,149,063,136 )

(24,987,735,096 )

(161,328,040 )

13




( 22 )
(2,551,805,569 )
(2,466,041,076 )

(85,764,493 )

( 22 )
(11,775,196,703 )
(11,544,389,395 )

(230,807,308 )

( 22 )
(8,129,779,652 )
(8,113,356,438 )

(16,423,214 )

22
(5,688,974,775 )
(5.406,182,990 )

(282,791,785 )

(260,648,605 )
(1,286,844,560 )

( 1,026,195,955 )




23

15
16 23
17 23
18

190 7,119,511

15




16




17
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RATER

i

55— O0E |

[
1

19



10,120

14 10,998 10,998 878
51,596
26,000
15 84,322 84,322 6.187
439
19 213,584 213,584
308,904 95,320 213,584
77,222,668 | 24,610,813| 52,611,855
77,531,572 24,706,133 52,825,439

20




( )
02 65,695 2,160 63,435 100

03 102,160 3,024 18,239 2,197 25,700 53,000
04 92,600 5,600 12,000 75,000
08 9,000 9,000
10 39,449 1,449 38,000
308,904 5,184 88,723 2,197 37,800 175,000

77,222,668 13,673,153 14,496,686 22,145,078 5,436,611 7,567,752 13,903,388

77,531,572 13,678,337 14,585,409 22,147,275 5,474,411 7,742,752 13,903,388

21




c=a-b

2,160 2,160
[ 2,160 2,160
11,839 11,839
[ 24 26 11,839 11,839
[H24 1
13,999 13,999
a c=a-b
1,449 1,449
[
1,449 1,449
1,449 1,449

22




c=a-b

6,143 6,143

6,143 6,143
70,317 27,317 43,000
15,120 15,120

(CSW)

2,197 1,317 880
26,000 26,000
27,000 27,000
76,460 27,317 49,143

a b c=a-b
25,700 6,187 19,513
25,700 6,187 19,513
25,700 6,187 19,513

23




c=a-b

5,000 5,000
5,000 5,000
5,000 5,000
a c=a-b
9,000 9,000
9,000 9,000
9,000 9,000
a c=a-b
80,600 80,600
5,600 5,600
75,000 75,000
80,600 80,600

24




c=a-b

51596 51,596
51,596 51,596
51596 51596
a b c=a-b
12,000 12,000
12,000 12,000
115 288 403
12,000 12,000
227,324
[ ] 24 25
[ 1 227,324
[ ] 25 1,200
[ 1 1,200

25






